
www.F
irs

tR
an

ke
r.c

om

RAN-2991 ]	 [ 1 ]	 [ P.T.O. ]

RAN-2991
T.Y.B.A. (Sem-V) Examination

March / April - 2019

Economics - CC -Paper 15 (B) (New)
Labour Economics

Time: 2 Hours ]	 [ Total Marks: 50

k|Q“p : / Instructions

“uQ¡ v$ip®h¡g  r“ip“uhpmu rhNsp¡ DÑfhlu ‘f Ahíe gMhu.
Fill up strictly the details of  signs on your answer book

Name of the Examination:

 T.Y.B.A. (Sem-V)

Name of the Subject :

 Economics - CC -Paper 15 (B) (New)

Subject Code No.: 2 9 9 1

Seat No.:

Student’s Signature

(1)	 âñ “„. 1 afrS>eps R>¡.
(2)	 S>dZu bpSy>“p A„L$ âñ“p„ NyZ v$ip®h¡ R>¡.

âñ-1.		  “uQ¡“p âñp¡“p V|„$L$dp„ S>hpb Ap‘p¡.			   10

	 (1)	 îd bÅf A¡V$g¡ iy„?

	 (2)	 b¡fp¡S>Npfu“p„ âL$pfp¡ S>Zphp¡.

	 (3)	 gOysd h¡s“ A¡V$g¡ iy„?

	 (4)	 h¡s“ “urs“p„ l¡syAp¡ S>Zphp¡.

	 (5)	 îd“u Nrsiugsp“p¡ A’® Ap‘p¡.

âñ-2.		  cpfsdp„ îdbÅf“u gpn°rZL$spAp¡ A“¡ kdõepAp¡ kdÅhp¡.	 13

					     A’hp

		  b¡L$pfu“p¡ A’® õ‘óV$ L$fu b¡L$pfu“p„ L$pfZp¡“u QQp® L$fp¡.	 13

âñ-3.		  h¡s“ rcÞ“sp“p„ âL$pfp¡ S>Zphu h¡s““¡ Akf L$fsp ‘qfbmp¡ kdÅhp¡.	 13

					     A’hp

		  îd“u DÐ‘pv$L$sp A¡V$g¡ iy„? cpfsdp„ îd“u “uQu DÐ‘pv$L$sp“p„ L$pfZp¡“u QQp® L$fp¡.	13
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âñ-4.		  V|„$L$ “p¢^ gMp¡. (Nd¡ s¡ b¡)			   14

	 1)	 Ap^yr“L$uL$fZ“u îd bÅf ‘f“u Akfp¡

	 2)	 cpfsdp„ rirns b¡L$pfu

	 3)	 fp[óV²$e h¡s“ “urs

	 4)	 îd“u N¡flpS>fu“p„ L$pfZp¡

ENGLISH VERSION

Instructions: 
(1)	 Question 1 is compulsory
(2)	 Figures to the right indicate full marks of the Question.

Que-1. 								        10
	 1.	 What is labour market ?
	 2.	 State the types of unemployment.
	 3.	 What is minimum wage ?
	 4.	 State the objectives of wage policy.
	 5.	 Give the meaning of mobilization of labour.

Que-2. 		  Explain the characteristics and limitations of labour market in India.	 13
					     OR
 		  Clarify the meaning of unemployment discuss the causes of 	 13

unemployment. 

Que-3.		  State the types of wage differentiation Explain the factor affecting to wage. 13
					     OR
		  What is productivity of labour ? Discuss the causes of law productivity 	 13

of labour in India.	

Que-4.		  Short note (Any Two)			   14
	 1.	 The effect of modernization on labour market.
	 2.	 Educational unemployment in India.
	 3.	 National wage policy.

	 4.	 Causes of Absenteeism of labour.
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